36" x 36" 0.100"
aluminum panel

Vertical mast — i

5/16" (0.3125") grade 5

bolt attaching sleeve
to vertical mast at \ : 81"
the top NP

5/16" (0.3125") grade 5

bolt attaching vertical
mast and sleeve to stung : A
: Sleeve

.
Ve v
%. 2R

. 270K
Ve -',""/
“le >0 sl
N S

>0

ol 7
sl 0

Sign hole
punching

Square tube

5/16" nut

~~Sign face

Horizontal leg

Vertical
mast

Horizontal leg

22.25" Ballast - 120lb. maximum
sandbag weight at end of

each leg

Parts List:

Sign mounting detail
3/8" steel washer

/3/8" nylon washer
| .—3/8" steel washer

—--5/16" bolt

Sleeve

|
Vertical stub is
welded on all 4 sides
to horizontal leg

All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed.

(2) Vertical masts - 2" x 2" x 108" long.

(2) Sleeves - 2.25" x 2.25" x 36" long.

(2) Horizontal legs - 1.75" x 1.75" x 72" long.

(2) Legs, vertical stubs - 1.75" x 1.75" x 12" long.

Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers,

nylon insert lock nut, and nylon washers against sign face.

APPROVED | DATE OF REV. NCHRP 350 COMPLIANT
1211/0 TALL PORTABLE SIGN STAND
/1/05 FOR 36" X 36" STOP

NES
W 227

,a\“xu Vdga
OTATION

3,

Q
&
OF TRAY




Sign hole

punching \@\

A

.IOIIIIIIOI./CII.IIIIOIII.

30" x 30" 0.100
aluminum panel

63" to
top of
sign — Vertical mast
L \
48" to
Sign ¢

H Skid

Ballast - 45lb. maximum
sandbag at end of each leg

Stub

Ea ata-a'ao%“oo.;\‘"‘"""""""‘"ol“o‘.o-o‘o/‘-‘o.-‘o‘o

Welded on
all 4 sides

Sign mounting detail

3/8" steel washer

/3/8" nylon washer
||~ 3/8" steel washer

—- 5/16" bolt

Parts List:

All square tube 12 gauge galvanized steel with 0.4375" holes
on either 1" centers or drilled as needed.

(2) H skid, horizontal legs - 2" x 2" x 60" long.

(1) H skid, cross bar - 2" x 2" x 30" long.

(1) H skid, vertical stub - 2" x 2" x 12" long.

(1) Vertical mast - 2.25" x 2.25" x 60" long.

(1) Sleeve - 2.5" x 2.5" x 36" long.

Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5
zinc plated bolts and washers, nylon insert lock nut, and nylon
washers against sign face.

~Sign face

Square tube
5/16" nut

APPROVED | DATE OF REV. NCHRP 350 COMPLIANT W
PORTABLE SIGN STAND
7115105 FOR 30" X 30" STOP SIGN | »Na ¢




3/8" nylon washer
3/8" steel washer

5/16" bolt

Sign mounting detail
3/8" steel washer >

24" x 12" 0.100"
aluminum panel
~~Sign face

- PP

PP

“2*«“340 “
CreeeeeeesdssssssseeeeseesessRsanes ///
T

Square tube

5/16" nut 24" x 12" 0.100

. aluminum panel
Vertical mast P

Sign hole punching
3" : E

sovevosvnce

o

e Qe

24" x 24" 0.100"
aluminum panel

21" x 15" 0.100"

aluminum panel
N
i : Sleeve
_ . 4r
4.5 Ballast - 45Ib. maximum
-t sandbag at end of each leg

X
.
.= P
<= P
o
.
.
.

.o
e’
.

< iy : :-.
Welded on
all 4 sides ST
Parts List:

All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed.
(2) H skid, horizontal legs - 2" x 2" x 60" long.

(1) H skid, cross bar - 2" x 2" x 30" long.

(1) H skid, vertical stub - 2" x 2" x 12" long.

(1) Vertical mast - 2.25" x 2.25" x 96" long.

(1) Sleeve - 2.5" x 2.5" x 36" long.

Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers,
nylon insert lock nut, and nylon washers against sign face.

NES
W 227

APPROVED | DATE OF REV. NCHRP 350 COMPLIANT
12/1/05 PORTABLE SIGN STAND FOR
DETOUR ASSEMBLY WITH 8' MAST

,a\“xu Vdga
OrTATION

3

Q
&
OF TRAY




Sign mounting detail

3/8" steel washer

3/8" nylon washer

3/8" steel washer
5/16" bolt

24" x 12" 0.100"

/aluminum panel
¥ Vertical mast
AN

*-Sign face ¢

Square tube
5/16" nut ,

e eessetttttitttttttttttcntttttennnas

S
Sign hole punching 73.5" : 24" x 24" 0.100"
to top N aluminum panel
3" of sign&
- il \ : Vertical center
by : \/Iine of signs
3 i .
‘ﬁgr.. Nk 21" x 15" 0.100"
_ v N aluminum panel
! K
9" : :
st 48" t0 |1tk — Sleeve
¢ of |i|:
| stacked |1 | ¢ \
- 4.5 panels ||
(\34.5" . ﬂ
-+ e [:( 4 (A Ballast - 45lb. maximum
-"'-/' Soe
el o sandbag at end of each leg
HE
4K H Skid

Welded on
all 4 sides
30“

Parts List:

All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed.
(2) H skid, horizontal legs - 2" x 2" x 60" long.

(1) H skid, cross bar - 2" x 2" x 30" long.

(1) H skid, vertical stub - 2" x 2" x 12" long.

(1) Vertical mast - 2.25" x 2.25" x 72" long.

(1) Sleeve - 2.5" x 2.5" x 36" long.

Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers,
nylon insert lock nut, and nylon washers against sign face.

APPROVED | DATE OF REV. NCHRP 350 COMPLIANT SR
2/15/05 PORTABLE SIGN STAND
FOR DETOUR ASSEMBLY b1 4




Vertical mast | i

5/16" (0.3125") grade 5

bolt attaching sleeve
to vertical mast at

the top

5/16" (0.3125") grade 5
bolt attaching vertical
mast and sleeve to stub

\ ~ _Sleeve
RE el /

Horizontal leg

Parts List:

28.25"

N

‘ Sign hole

@

% ‘F . punching
i 48" x 48" 0.100" 15
aluminum panel Jr

3/8"

Sign mounting detail
steel washer

3/8" nylon washer
3/8" steel washer

5/16" bolt

™~ Sign face

Square tube
5/16" nut

Sleeve

Vertical
mast |

Horizontal leg —|

Ballast - 120Ib. maximum
sandbag weight at end of

each leg

Vertical stub is
welded on all 4 sides
to horizontal leg

All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed.
(2) Vertical masts - 2" x 2" x 108" long.

(2) Sleeves - 2.25" x 2.25" x 36" long.

(2) Horizontal legs - 1.75" x 1.75" x 72" long.

(2) Legs, vertical stubs - 1.75" x 1.75" x 12" long.
Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers,
nylon insert lock nut, and nylon washers against sign face.

APPROVED
12/1/05

DATE OF REV.

NCHRP 350 COMPLIANT
PORTABLE SIGN STAND
FOR 48" X 48" EXIT PANEL

NES
W 227

,a\“xu Vdga
OTATION

3,

Q
&
OF TRAY




Optional lightweight amber
flashing light is mounted

to aluminum panel
and against vertical
mast to prevent spin

Vertical mast —iji

5/16" (0.3125") grade 5

bolt attaching sleeve
to vertical mast at

the top

5/16" (0.3125") grade 5
bolt attaching vertical
mast and sleeve to stub

Horizontal leg

Parts List:

All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed.

28.25"

Ballast - 120Ib. maximum
sandbag weight at end of

each leg

NG
NG
o

Sign hole
punching

v
12"
12"
15" #

48" x 48" 0.100"
aluminum panel

Sign mounting detail
3/8" steel washer

3/8" nylon washer
3/8" steel washer

5/16" bolt

~~Sign face

61.75" Square tube

5/16" nut

\ .__:'_:'.‘-;:I. / Sleeve

Sleeve

Vertical
mast |

Horizontal leg —|

Vertical stub is
welded on all 4 sides
to horizontal leg

(2) Vertical masts - 2" x 2" x 108" long.

(2) Sleeves - 2.25" x 2.25" x 36" long.

(2) Horizontal legs - 1.75" x 1.75" x 72" long.

(2) Legs, vertical stubs - 1.75" x 1.75" x 12" long.

Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers,
nylon insert lock nut, and nylon washers against sign face.

APPROVED
7/15/05

DATE OF REV.

NCHRP 350 COMPLIANT SR
5 FEET PORTABLE SIGN STAND |
FOR 48" X 48" DIAMOND &1 4




36" x 36" 0.100"

. Sign hole
aluminum panel

punching

Optional lightweight
amber flashing light
is mounted to aluminum
panel and against vertical
mast to prevent spin

Vertical mast — .3 §

Sign mounting detail
3/8" steel washer

5/16" (0.3125") grade 5

bolt attaching sleeve
to vertical mast at NF
N

3/8" nylon washer
3/8" steel washer

the top 5/16" bolt
~74"
*~Sign face
5/16" (0.3125") grade 5 |3 i 1;9U3fe tube
bolt attaching vertical HH / nut
mast and sleeve to stubX; : i
¥ g/SIeeve Sleeve
Horizontal leg L

Vertical

22.25" i
Ballast - 120lb. maximum Vertical stub is
sandbag weight at end of welded on all 4 sides
each leg to horizontal leg

Parts List:

All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed.
(2) Vertical masts - 2" x 2" x 108" long.

(2) Sleeves - 2.25" x 2.25" x 36" long.

(2) Horizontal legs - 1.75" x 1.75" x 72" long.

(2) Legs, vertical stubs - 1.75" x 1.75" x 12" long.

Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers,
nylon insert lock nut, and nylon washers against sign face.

APPROVED | DATE OF REV. NCHRP 350 COMPLIANT SR
12/1/05 TALL PORTABLE SIGN STAND g 2
FOR 36" X 36" DIAMOND O\ \@Qét




Optional lightweight flashing
amber light is mounted
to aluminum panel

and against vertical
mast to prevent spin

aluminum panel

Vertical mast

Lower sign
mounting bolts
shall go through
vertical mast

i 58.3125"
and sleeve i

Sleeve —73|:

: :

: :

%\ HH

el /

N A N
=

i1 0 B

Horizontal leg

Sleeve and mast
are bolted to
vertical stub =7

48" x 48" 0.100"

Sign hole
punching
v
12"
12"
15" 4

Sign mounting detail
3/8" steel washer

3/8" nylon washer
3/8" steel washer

0
=—5/16" bolt

~~Sign face

Square tube
5/16" nut

31 5\ i

Bottom of sign to ground
shall be 13" to 14"

Sleeve —

Vertical
mast

. Horizontal le
Ballast - 45lb. maximum 9

sandbag at end of each leg

Parts List:

Vertical stub is
welded on all 4 sides
to horizontal leg

All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed.

(2) Vertical masts - 1.75" x 1.75" x 60" long.
(2) Sleeves - 2" x 2" x 36" long.

(2) Horizontal legs - 1.5" x 1.5" x 60" long.

(2) Legs, vertical stubs - 1.5" x 1.5" x 12" long.

Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers,

nylon insert lock nut, and nylon washers against sign face.
(1) Optional flashing warning light attached to sign panel.

FHWA Reference HSA-10/WZ-133

APPROVED | DATE OF REV. NCHRP 350 COMPLIANT mo“\“NESO"’%
PORTABLE SIGN STAND
7/15/05 FOR 48" X 48" DIAMOND 1 4




Optional lightweight flashing
amber light is mounted
to aluminum panel

and against vertical
mast to prevent spin

48" x 48" 0.100"
aluminum panel

Vertical mast

Lower sign
mounting bolts
shall go through
vertical mast
and sleeve

Sleeve—3¢

Horizontal leg

Sleeve and mast E;;.""
are bolted to
vertical stub 5%

Sign hole
punching
v
12"
12“
15" 15" *

Sign mounting detail

5/16" nut

31.5" Sleeve
\ Vertical
mast

Bottom of sign to ground
shall be 18"-20"

Horizontal leg

Ballast - Approx. 45Ib.
sandbag at end of each leg

Vertical stub is
welded on all 4 sides
to horizontal leg

Parts List:

3/8" steel washer

3/8" steel washer
1]5*5/16" bolt
~~Sign face

Square tube

All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed.

(2) Vertical masts - 1.75" x 1.75" x 72" long.

(2) Sleeves - 2" x 2" x 36" long.

(2) Horizontal legs - 1.5" x 1.5" x 48" long.

(2) Legs, vertical stubs - 1.5" x 1.5" x 6-12" long.

Fastening hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers,

nylon insert lock nuts, and nylon washers.
(1) Optional flashing warning light attached to sign panel.

APPROVED | DATE OF REV. PORTABLE SIGN STAND

5/3/06 FOR 48" X 48" DIAMOND

W0z

,’)\‘\LHVdso

Y

Q
OF TR S

ORTATO™




36" x 24" 0.100"

aluminum panel #12"+
<> ‘ n !
HE 6 Sign hole
: punching
NH 1
Vertical mast i B 12"
.. ak 6"
36" x 48" 0.100" i HE ‘
aluminum panel | i |
| Sign mounting detail
HF 3/8" steel washer
/3/8" nylon washer
. .—3/8" steel washer
nd
¢ —-5/16" bolt
R NH ~-Sign face
Sleeve —:|: Rd g
: HE Square tube
5/16" (0.3125") grade b 5/16" nut
bolt attaching vertical : 3K
mast and sleeve to stub\s : N
| 247
Horizontal le B JE s
9 N Sleeve
5 U
o E Vertical
o Itj3)52 mast
= Horizontal leg—|
225" P

Ballast - 45Ib. maximum Vertical stub is

sandbag at end of each leg welded on all 4 sides
to horizontal leg

Parts List:

All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed.
(2) Vertical masts - 1.75" x 1.75" x 90.5" long.

(2) Sleeves - 2" x 2" x 36" long.

(2) Horizontal legs - 1.5" x 1.5" x 60" long.

(2) Legs, vertical stubs - 1.5" x 1.5" x 12" long.

Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers,
nylon insert lock nut, and nylon washers against sign face.

NES
W 227

APPROVED | DATE OF REV. NCHRP 350 COMPLIANT
7/15/05 PORTABLE SIGN STAND
FOR WORK ZONE SPEED LIMIT

,a\“xu Vdga
OTATION

3,

Q
&
OF TRAY





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles false
  /AutoRotatePages /PageByPage
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.5
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo false
  /PreserveHalftoneInfo true
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /Swiss721BT-Bold
    /Swiss721BT-Medium
    /SwitzerlandBold
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [792.000 612.000]
>> setpagedevice




